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Eight persons- A, B, C, D, E, F, G, and H are sitting on tﬂ »
circular table facing towards the centre, but not
necessarily in the same order. They all have different ages
and the age of all the persons is less than 50 years. G sits
third to the right of the one who sits to the immediate left
of the one whose age is 36 years. Two persons are sitting
between G and F. D sits adjacent to the one who sits
second to the right of A. A sits to the immediate left of F.
The one whose age is 20 years sits opposite to the one
who sits second to the left of E. Neither F nor G is 20 years
old. H sits third to the left of the one whose age is 15
years. Neither E nor A is 15 years old. B sits second to the
left of C. The age of D is twice the age of the one who sits
to the immediate right of G. The age difference between E
and D is the same as between D and A. The age of G is five
years more than the one who sits to the immediate left of
G. The age of F is one year less than the one who sits to
the immediate right of H. One of the persons sitting on the
table is 22 years old.


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 am/ (@

Eight persons- A, B, C, D, E, F, G, and H are sitting on tM »
circular table facing towards the centre, but not
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and the age of all the persons is less than 50 years. G sits
third to the right of the one who sits to the immediate left
of the one whose age is 36 years. Two persons are sitting
between G and F. D sits adjacent to the one who sits
second to the right of A. A sits to the immediate left of F.
The one whose age is 20 years sits opposite to the one
who sits second to the left of E. Neither F nor G is 20 years
old. H sits third to the left of the one whose age is 15
years. Neither E nor A is 15 years old. B sits second to the
left of C. The age of D is twice the age of the one who sits
to the immediate right of G. The age difference between E
and D is the same as between D and A. The age of G is five
years more than the one who sits to the immediate left of
G. The age of F is one year less than the one who sits to
the immediate right of H. One of the persons sitting on the
table is 22 years old.



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

Which of the following combination is true with respect to
the final arrangement? A. F-36 B. E-15 C. D-30 D. C-20 E. B-
22

How many persons are sitting between D and E? A. One B.
Two C. Three D. Four E. Either b or d

Who among the following person sits opposite to the one
whose age is 29 years? A. The one who sits second to the
left of D B. C C. AD. The one whose age is 35 years E. The
one whose age is 15 years
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If G is related to 30 years and A is related to 22 years in a
certain way, then who among the following person is
related to 15 years?

A. E B. The one who sits opposite to F C. CD. The one who
sits third to the left of D E. None of the above

Four of the following five are alike in a certain way and
hence form a group. Find the one that does not belong to
that group. A. E B. The one who sits second to the right of
C C. The one who sits to the immediate right of H D. The
one who sits to the immediate left of DE. A
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persons L, M, N, O, P, Q, RandS were born in the
years 1963, 1967, 1976, 1979, 1983, 1987, 1990, and 1997
not necessarily in the same order. They were born in the
places Indore, Raipur, Hydrabad, Pune, Kanpur,
Manipur, Vizag and Noida not necessarily in the same
order. They were born on the same date i.e. on 17t
October. Make the age calculations as on 17th October
2019. S was 4 years elder to the one born in Pune. The one
born in Pune was born at a gap of 4 persons from P.
Number of persons elder to the one born in Kanpur was
one more than that of number of persons younger to R. R
was 8 years elder to O. Not more than two persons were
born between S and R. The one born in Raipur was born
after 1983 but not on even year. N was born in Indore at a
gap of 4 persons from Q. The one born in Noida was born
just before M but not eldest. Nobody was born between
the ones born in Vizag and Raipur. The person born in
Manipur was aged 36 years old. O was not born in Raipur
and L was not born in Kanpur and Manipur. The person
born in Hyderabad was elder to the one born in Kanpur.
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Eight persons L, M, N, O, P, Q, R and S were born YA
years 1963, 1967, 1976, 1979, 1983, 1987, 1990, and 1997
not necessarily in the same order. They were born in the
places Indore, Raipur, Hydrabad, Pune, Kanpur,
Manipur, Vizag and Noida not necessarily in the same
order. They were born on the same date i.e. on 17t
October. Make the age calculations as on 17th October
2019. S was 4 years elder to the one born in Pune. The one
born in Pune was born at a gap of 4 persons from P.
Number of persons elder to the one born in Kanpur was
one more than that of number of persons younger to R. R
was 8 years elder to O. Not more than two persons were
born between S and R. The one born in Raipur was born
after 1983 but not on even year. N was born in Indore at a
gap of 4 persons from Q. The one born in Noida was born
just before M but not eldest. Nobody was born between
the ones born in Vizag and Raipur. The person born in
Manipur was aged 36 years old. O was not born in Raipur
and L was not born in Kanpur and Manipur. The person
born in Hyderabad was elder to the one born in Kanpur.
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1. Who among the following person is
from Pune?

(a) P

e,

(c) L

(d) R

(e) O

2. Which of the following statements is
true?

(a) M age Is 40year

(b) N age is 52year

(c) O age Is 29year

(d) Q age is 24 year

(e) L age iIs 52 year
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'EAR | AGE | PERSON| PLACE 3. Four of the following are alike in a certain way

and thus form a group. Which of the following
does not belong to the group?

(a) N - Noida

(b) M - Kanpur

(c) P - Raipur

(d) S - Pune

(e) O - Noida

4. If ‘Hydrabad’ is related to 43’ and ‘Indore’ is
related to ‘36’ in a certain way. Then who among
the following will be related to ‘Manipur’?

(a) 24

(b) 29

(c) 32

(d) 36

(e) None of them
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EW;@T#WWT#%@%W Certain number of persons is living in a building containing
Fol< 81 U ffdaa aear & Afsrel h HTA AT two flats viz. Flat A and Flat B with a certain number of
3R Fele | wele A, Fele B F 9fRTH 7 81 Fa@
i.lﬁl E“ﬁ” EI. Eol ﬁ;%' E\:iﬁT” 1;;;11; Eml Iﬁmﬁ Eﬁz - numbered 1 and the floor immediately above it is
ﬁzuﬁﬁm; ¥ wde T E AF I L A9 A numbered 2 and so on. The flat A of floor 2 is imme.diately
2 FT Foe N #3T 1 F Fole i & S s sl sl above the flat A of floor 1 whereas flat B of floor 2 is

ae st g v peat AT s i s &rger  immediately above the flat B of floor 1 and so on. Both G
sEar Al AT R @ ¥l w, wF firdeFwdecA | and D lives on the same even numbered floor below floor
INGFFN AT AT R EATTIWHRQF:T 5. W lives on flat A and three floors above G of the same
Fael U ATA ¢, S D & FHTT Fl WIEdT & flat. Only one floor is there between W and Q who lives on
a':"_’r D *ﬁ?:'rg%' R, G *ﬁ%?;a:ma?; the same flat as D but not adjacent to D. R lives on the flat
S & IR AT Folc TX AT 81 Q F FIT
mal h EIWTII | 5'5' aqi-r?ﬂ;; el %Ll%'il;lsﬁ?é'a Tga;ﬂ more than two floors are there above Q where T lives on

& S A AT §1 R F A Tol Y T&ITM F FUT the flat immediately above Q’s flat. M lives on the same
ol Y TEaT A U 3T B floor as T and immediately below the flat of P. The number

of floors below R is one more than the number of floors

L g el above M
- 15:00 = -

floors. Flat A is to the west of Flat B. The lowermost floor is

immediately below G’s flat and four floors below S. Not
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Certain number of persons is living in a building containing
two flats viz. Flat A and Flat B with a certain number of
floors. Flat A is to the west of Flat B. The lowermost floor is
numbered 1 and the floor immediately above it is
numbered 2 and so on. The flat A of floor 2 is immediately
above the flat A of floor 1 whereas flat B of floor 2 is
immediately above the flat B of floor 1 and so on. Both G
and D lives on the same even numbered floor below floor
5. W lives on flat A and three floors above G of the same
flat. Only one floor is there between W and Q who lives on
the same flat as D but not adjacent to D. R lives on the flat
immediately below G’s flat and four floors below S. Not
more than two floors are there above Q where T lives on
the flat immediately above Q’s flat. M lives on the same
floor as T and immediately below the flat of P. The number
of floors below R is one more than the number of floors
above M
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How many floors are there in the building? a) 9
b) 11 c) 13 d) 7 e) None of these

Who among the following lives three flats above
W’s flat? a) P b) Q c) G d) M e) None of these

In which of the following floor does Q live? a) 7th
b) 5th c) 9th d) 11th e) None of these
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If N lives on the same floor as P then who among
the following lives on the same flat as N? a) S b)
W c) R d) G e) None of these

Which of the following floor and flat does D live?
a) Flat A, floor 2 b) Flat B, floor 2 c) Flat A, floor 4
d) Flat B, floor 4 e) None of these
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Eight persons A, B, C, D, E, F, G and H are visiting
eight different places viz. Agra, Cochin, Delhi, Goa,
Jammu, Ooty, Ranchi and Shimla on four different
months viz. April, July, September and December
of 2018 and 2019, but not necessarily in the same
order. No two persons visit the same place or on
the same year. Four persons visit between G and B
who visit to Cochin but not before G.E visits
immediately after G and two persons before the
one who visits Delhi. H, who visits Ranchi, visits on
the same month as the one who visits Delhi. Two
persons visit between H and C who visits
immediately after the one who visits Shimla. D
visits in the month having 31 days but not in the
same month as C. F, who visits Jammu, visits two
persons after the one who visits Ooty. Neither A
nor G visits Agra.
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- 2018 2019

. Who among the following person visits Goa?

a) The one who visits in December 2018

b) The one who visits three persons before D

c) The one who visits immediately after the one who visits to
Ranchi

d) The one who visits in April 2018

e) None of these

In which of the following month and year does A visit?
a) Three months before the one who visits Ooty

b) Two months after C

c) Immediately before H

d) Two persons after the one who visits Goa

e) None of these
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- 2018 2019

How many months are there between G and the one who
visits Jammu?

a) 14 months

b) As many months between B and the one who visits
Ranchi

c) 12 months

d) As many months between F and the one who visits
Delhi

e) None of these

To which of the following place does the one who visits in
December 2018?

a) Delhi

b) Ooty

c) Shimla

d) Agra

e) None of these
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Eight Person B, F, H, J, U, W, Y and Z are born in
different years -1978, 1981, 1983, 1985, 1989, 1994,
1997 and 1999. Each person’s age are calculated with
respect to the current year (2020), same month and
same date. Each one of them has different number of
chocolate from 1 to 8 but not in the same order. B and
Y’s age difference and their difference of chocolate are
same, in which their difference of ages will be the
number of chocolate for J. Z is 4 years older than

Y. Sum of number of chocolate of H and Z's is 8. U was
born before 1997. Number of chocolate of U is below 3.
Number of chocolate of J is above 4. Both H and Z’s
does not have even number of chocolate. Number of
chocolate of Y is three times of number of chocolate of
Z. Three persons were born between H and W. W was
born after H. less than three persons were born
between J and Y. More than three persons were born
between F and U. F was born on odd number year.
Sum of number of chocolate of Fand U is 6.

NS ATFAB, F H,J, U, W,Y 3 ZFT ST . H e e
3TEIT-37T9T 9¥ -1978, 1981, 1983, 1985, 1989, 1994,
1997 3R 19991 TAF STTF HT 3T FY 0T F AT
FY ST § AT IF (R030) &F HIY H, T AdeT 3 ad
TR | 378 | TAF & YT AThaE T IeTaT-3reraT
AEATe 14 8 dF dAfhaT S FA A T B 3T Y &Y
T FT A 3R ITR TThalT T Il FA ¢, oraH

ma:rmﬁi%rtramta?rm#wm
g Z, 3R 4 aS TS| V. H AR z A Fiwae N
HEAT HT AT 8 ¢l umﬂ1997#qaﬁ€3nem U
&Y AiFae Y TG&AT3 T FH ¢ ) Y TiFole HT HEAT4
A 31TF T1 H 3T 2 AT FH Fivele Y F&AT H AT
g1 Y T i HT TE&IT 2 H Alhole A F&AT AT i
AT Haﬁtwa;a%ﬁﬁ?r—qﬁ?rﬁarwirlwaﬂ
FAHF I e ) iRy Fduv AT T s A
ﬁawﬁwaﬁ#aﬁa?ﬁﬂ#mﬁﬁawﬁ
u. Fma—nﬁwmma&ﬁgmmlmﬁ?uaﬁr
Aiholc hl TEIAT HT AT 6 &1

S ey T
.5-00
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Eight Person B, F, H, J, U, W, Y and Z are born in me
different years -1978, 1981, 1983, 1985, 1989, 1994,
1997 and 1999. Each person’s age are calculated with
respect to the current year (2020), same month and
same date. Each one of them has different number of
chocolate from 1 to 8 but not in the same order. B and
Y’s age difference and their difference of chocolate are
same, in which their difference of ages will be the
number of chocolate for J. Z is 4 years older than

Y. Sum of number of chocolate of H and Z's is 8. U was
born before 1997. Number of chocolate of U is below 3.
Number of chocolate of J is above 4. Both H and Z’s
does not have even number of chocolate. Number of
chocolate of Y is three times of number of chocolate of
Z. Three persons were born between H and W. W was
born after H. less than three persons were born
between J and Y. More than three persons were born
between F and U. F was born on odd number year.
Sum of number of chocolate of Fand U is 6.
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Who among following have 6 chocolate?

ld.a'r:- (a) U
-- EE? o
--- (d) F

1985 | 35 (e) B
What is the age of the person having 8
“ chocolate?
(@) 23 yr
21 | F (b) 21yr
(C) 26 yr
(d) 35 yr

(e) 39 yr


http://www.mahendras.org/

S
=

 Chocolate.

B | 5

I
1

Pers Chocolate

3

—
o
~]J
Qo
e
b

-
o
co
—
(W8
e

o
[Tn)
20
W0 Oy

-

0

0o | oo
Lo @) C
= (5] .

=

0 I I
= | L1

-
|

How many person are their between the one
whose birth year is 1981 and the one who has 4
chocolate?

(@)1

(b) 2

(c) 3

(d) 4

OF

Four of the following five are alike in a certain
way and hence they form a group. Which one of
the following does not belong to that group?

(@) J

(b) Z

(c) W

(d) F

(e) B
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